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* Explain why H,SO, is astronger acid than H,SOs.

The acidity of oxo-acidsincreases asthe number of oxygen atomsincreases.
Thisisbest understood in terms of therelative stability of the negative charge on

the conjugate base, HSO, and HSO3':

The negative chargein HSO, isdelocalized over 3 oxygen atomswhereasthat in
HSO3 isdelocalized over only 2 oxygen atoms. The greater stability of the HSO,4
anion leadsto the higher acidity of the conjugate acid, HSO,.

I
(|):
H;

o}

—O —T

S:

1

Q| -—>

0| -—>

H

‘0

Q

—O —_T

O:S_O

Marks
2



